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For with God, everything is possible
(Matthew 19:26)

#everythingispossible

Through owr continued serwvice to our community .and rooted in .owr Christian Values,
the opportunities we provide, inspire .our children .and adults at .owr school to learn, to
grow and to flowrish. We .are committed to developing our children into .confident
individuals who make .o positive difference through developing a respect for themselves,
each other .and the world .arownd them.

For with God, everything is possible.

(Matthew [9:26)

This policy should bhe wused .alongside the Maths curriculum offer .and the Calculation




What .are .mixed numhers .and
improper fractions?

When you hove a whole
rumber and a fraction side by

What is .a unit fraction? What is a non-unit fraction?

Auzdt}nactbonbsmvgﬂac&onw%lm Amn—unbt}r,a,oti,on,bs,a
the numerator and .o whole number for the fraction with a number greater
than one as its ruwmerator

dernominator.

-y and .a whole rumber for the side like | 1/2, its called a

3+ + denominator. mixed rumber. You con
T = corwert this into a proction

h . 1 4 What are the parts of o fraction?  but the numerator will be
’ 9 , hbigger than the denominator
- A fraction has 3 parts. (3/2). This is Ued. an

The wvinculum is the bhar improper fraction.
What .are equivalent fractions? separating the bwo rumhers.

Equivalent froctions are two or

more fractions that are equal. A

fraction is o part of a whole;
the denominator represents how
many equal parts the whole is
split up into and the nuwmerator
represents the amount of those
parts.

The denominator is the number
bhelow the wvirncuwlwm.

The rumerator is the .number
ahove the svinculwm.

What is .o proper fraction?
This means that the froction
is helow | or a whole. The
denominator is higger than the
nruunerator.

Smaller —»

Larger —»

3 2mp
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Simplifying Fractions

+ To write a fraction in simplest form or lowest terms
follow these two steps:

1 - Find the Greatest Common Factor (GCF) of the
numerator and denominator.

2 — Divide both the numerator and the denominator
by the GCF.
Example; 12 12-1,2,2,4,6,12 12+ 6= 2
18 18-1,2,3,69,18 18 + 6 =3




Concrete Ahbstract

Verhally identifying “half of 4

is 27

L . > Exposure to part whole models:
numbers up to \.5/
10, including ' —

focts and how S A S

Continued wse of part whole
models from EYFS:

Abstract
Half of 10 = I
Find holf of variely shapes in different ways Half of 8 = I
1 j
5 of 14 =
E Aquarterof20 = I
Aquarterof12= I
1 I
n of8=

parts of an
object, shape .or




Year 2 Recognising .and naming Finding fractions:
chogrwsz, ;Ln,d,, Jractions: YVaof6=3
name .ond write oncrete _ 6
}n@cﬁom 1/3, ’ % of 12=9
/4, 2/4 and o' 12
3/4 of a length, ‘ ’ 3 I
shape, set of o' Abstract
objects or of 8=
quantity @b
)
P }\'1»‘ B o
Find third uwsing cubes or e iler s o i bibof wres
everyday items and show in £ “"**1;“1“#;7" v
| I T | S
Finding froctions:
0 00 Finding fractions:
B
) ‘ ®e | ol ‘ % | e
Year 3 ' Wikt Pt Recognising froctiorns %of6=3 i
Recognise, find aze apples? .
and write Poosa? Limas? % of12=9 |
fractions of a 1z
discrete set of E S0




objects: aunit

What fraction is red?

fractions
8
b & I - L] ‘ .. . [ ]

Year 3 ' : 1 of15sweets=3

write — @ @

. 4 ]
fractions of a s. 7 14 &. because 15=5=3
Aiscrete set of | ° S 2 oF15sweets<6
objects: ron-unit -~ 2/5 of 15 = @ .\@ E
Jroctions with 6
amall 3/b of 8 = 6 because
denominators Fln,dLn,g ﬂ,a,otwn/s 8 15+5=3and3x2=6

®s ["a| % 2/5 of 25 =10

25




Year 3 Bk 3 . ! in of 6=0.6
Recognise that — = o
m wm ; ; : ! beecause 6 = 10= 6

,d,wwm,g
f;f!;! b ind 1 of7=07
0 L 3 3 3 10

equal par m’ W)' —O' because 7 = 10 = 0.7
and d.w»dmg
one l_m o L 2 3 4 5 6 1 & 9O
nwmbers .or ]
guantities by 0. 1
2

Year 4 = 1 _

RECO»(JILUSJZM . . . . ‘ % N E :::T m of 60 =0.6
— °
rundredths arise| @) @ @ @ 5 (9 AL because 60 + 100 = 0.6
.. a3 -E wnin]o ;C_, =
wmhen. dixiding FIEHEHEE — of 70=0.7
an .object by .one = |E|+<|o]e|*|* 100
hundred .and 0.01 001 0.0 X because 70 + 100 = 0.7
dividing tenths 1hundredth=o.01=lTlO
001 00 0o

| | 1 |

0.00 0

0.02 0.03 0.04 005 006 0.07 008 008 010

t

33

033

100

1




Year 5 DECIMAL PLACE VALUE CHART FITTY 67.153
R . [ THOUSANDS TO THOUSANDTHS | i PRps i
e 5 s I . - How many thousandths does
5L I I T R £ HH l
thousandths B0 R : G 05 7000 this number have?
relate them 063 o . ~__0s4 | How many thousandths do you
m E !' , I Dnl31 06134 DGIBj 06134 u\JIJE 0.636 unl,?’ 06]38 Jhl,‘,‘ I
hundredths - need to add to it to make it
and decimal | 0001 (00 67162
. [ E =K L
Abhstract
Year 3
Compare and 2 3 5 7
order aunit > 8 8 8 8
fractions,
and
fractions
mith. the *Ensure syou use different shape
Aame representations here.
denominators

| 2 3

ceandBEE

-

*Ensure you use different shape
representations here.




Compare .and
order

has become:

8
20

has become

B
20

*Ensure you use different shape

representations here.

1 L] L]
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2 _ 8 1 _ 5
5 20 > & 20
A N,

Which is greater?
2 6
- —
8 16
Ordering from smallest to largest by using equivalent fractions:
5
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e
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2 :
I haVeé a pie You have % of a pie

L
X

4 5';’.;
T Ser:
"‘?{’#

four quarters

2 4
? :

*Ensure syou use different shape
representations

)

two halves

Sam says that two quarters is
the same as one half.
Is he correct?

How do you know?
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[, 180

Ldentify,
name and
write

—

fractions of
a gven

U
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Concrete

Ahbstroct

Year 3
Add .and subtract
fractions with the
Asame denominator
within one whole

(e.g. 5/7+ '/7= 6/7)

Year L
Add .and subtract
fractions with the
Asame denominator

/-
d

Use of different shapes to show adding .and
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(incl .answers greater
than one)

(Cut wp and use as froction

Atrips)

mproper froctions
and corwert from
one form to the
other and write
mathematical
statements > | as a
mixed number (z.g.

2/:\8% -3 1 _ 5
g\"—/‘ﬁ 4\:_)20
(Cut wp and wse as froction
Atrips) ? @
Y, 5 b 17 _ 41

[. Divide .rumerator by
denominator

2. Count remainder .and
represent as a froction




2/5 + 4]5 = 6/5 =
[1/5)

1

‘(' 27 ) Multiply the whale
2 x 4

G .

8
— +
4

1 denominator
+ —
4

A
4

sy e

1

+

—a |

N =
Wl
oo

il
because 1 — =

3
2
3 9 1 2
-_ . ard_:_
2 6 3 6
9 2 11
so—+-—-= 1
6

6

[ 9 |

4 %— altogether

Multiply a proper fraction by a whole number:

3 18
Z X6= 4

Change to a mixed number

E:4%
4

( Multiply numerator by whole

number)

number by the




Year 6

[
Multiply simple pairs P 2
of proper froctions, umerators [ 27
writing the .answer RERE
(eg. I/t x 1/2 =
1/8) i

Year 6 o

Divide proper U — 3 -

Jractions by whole
numbers (z.g. 1/3
+ 2=1/6)
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